CHAPTER 3, SECTIONS 3.3-3.5

3.3 - Coordinate Systems and Vector Compo-

nents

(1.) For the following vectors, draw the z- and y-vector components. Label

whether the scalar components are positive(+) or negative(—).
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(2.) On the axes, sketch a vector whose z-component and y-component are

negative.
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(3.) For the vectors given, sketch the vectors on the axes provided and find
the numerical values for - and y-scalar components. Assume the angles

given are the standard angle. Show your calculations in the region below.
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(4.) For the following vectors, find the numerical value of the z- and y-scalar

components. Show your calculations in the region below.
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(5.) For each set of components given, sketch the vector and indicate its
standard angle 6 on the axes provided. Then find the numerical value
of the vector’s magnitude and the angle 8. Show your calculations in

the region below.
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(6.) A man leaves his house and walks 50 m due north. He then walks south-
west 75 m. Finally, he walks 150 m east. Determine the numerical value

of how far and what angle the man must walk in order to return home.
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